Cross World Power Limited



Date: 30-Sep-2020

CWPL-SB/0093/20

To

Aviation Dhaka Consortium

49 Kazi Benzir Sarani, Nikunja-2, Khilkhet, Dhaka 1223

Site ID: Airport Terminal 3, Uttara, Dhaka

QUOTATION FOR SUPPLY OF 145 NOS DB PANEL: 0

Dear Sir

We have since inspected your site and as desired by you we are now pleased to submit below our cost of installation & commissioning materials for your above mentioned genset.

SL	ProductName	Unit	Quantity	Unit Price	Total Price
1	40 A DB (As Per Attached technical BOQ)	Set	50.00	30,320.00	1,516,000.00
2	Light DB (As Per Attached technical BOQ)	Set	50.00	28,961.00	1,448,050.00
3	150 A DB (As Per Attached technical BOQ)	Set	30.00	46,927.00	1,407,810.00
4	400 A DB (As Per Attached technical BOQ)	Set	15.00	163,108.00	2,446,620.00
5	Delivery, Installation & Testing.	Job	145.00	604.19	87,607.55
				Sub Total:	6.906.087.55

Grand Total: 6,906,087.55

Taka

: Six Million Nine Hundred Six Thousand Eighty-Seven And 55 / 100

N.B : Above Price Including VAT & AIT & Cost of additional materials required during the commissioning works of the set to be borne by you.

material reasonstition will have to available sheets of by DIC, 305000 to devocate with concern manager of respective elient.

Assuring you of our best services and careful attention at all times, we look forward to receiving your valued work order. Please retain the original and return the copy of this quotation duly sign by you.

Thanking you. Yours faithfully

Cross World Power Limited

We hereby accept the above terms & Conditions

Md. Ariful Islam Manager, Sales & Marketing 01755 514 731 (Signature with Seal)
For and on behalf of
Aviation Dhaka Consortium

H: NE(O) 06, R: 92, Gulshan-2, Dhaka-1212 | p: (880 2) 8811858, 8816528 | f: (880 2) 8816205 | e: info@cross-world.com Print Date : 09/30/2020 Page 1 of 1

MAIL APPROVAL FROM CLIENT

Shipan Barua

To: Md. Mizanur Rahman

Subject: RE: [CWP] P.O of DB Panel (for Sample Test)

From: Mafizul Islam [mailto:das@cross-world.com]

Sent: Thursday, January 23, 2020 11:06 AM

To: Ariful Islam

Subject: FW: [CWP] P.O of DB Panel (for Sample Test)

Fyi.....

Best Regards,

Mofizul Islam | CROSS WORLD POWER LTD | Computer Operator, General | Plot 1/B, Road 90, Gulshan 2, Dhaka 1212, Bangladesh | p: +880 2 5881 1858, 989 1442 | f: +880 2 5881 5160 | e: das@crossworld.com | w: www.cross-world.com



please consider the environment before printing this email

From: 조병철 [mailto:ironhim.cho@samsung.com]

Sent: Thursday, January 23, 2020 11:01 AM

To: info@cross-world.com; harunor@cross-world.com; chowdhury@cross-world.com

Cc: 최호일

Subject: [CWP] P.O of DB Panel (for Sample Test)

Dear Mr. Ariful

Pls be informed that Samsung request you to manufacture DB Panel and delivery and issue Purchase Order for Sample DB Supply.

Cross world shall supply DB Panel base on Drawing which was issued by Samsung.

Samsung will inspect Sample DB and can request rectification if needed

Samsung will pay these sample DB Panel 4 sets after SAT (Site Acceptance Test)

Pls be noted that CWP Unit Price includes VAT, AIT as per Quotation.

* Delivery unit price is calculated by Amount/ total Qty(269) 604.2*4 Sets = TK 2,417 (162,527/269=TK 604.2)

Pls Infrom us immediately 1. Banking Account (refer to belows) 2. Representative for CWP



Aviation Dhaka Consortium

49 Kazi Benzir Sarani, Nikunja-2, Khilkhet, Dhaka 1223

Tel. No. Fax. No.

PURCHASE ORDER

We are pleased to place an order for the following described commodities on the terms and conditions specified hereunder

				PO Date:	22-Jan-20
Project:	HSIA Dhaka Airport Project	1	Budget (Code:	
Supplier:				Purchase Order no.	
	Cross-world Power Ltd			Dhaka/ADC/PO/	2020/01/0022
	Mr. Ariful Islam	017- M.4731	5551-	LAS No.:	
	(info@cross- world.com)	M.			
				Seller's Reference:	
Item no.	<u>ltem</u>	Description Unit	<u>Q'ty</u>	<u>U/Price</u>	Amount
1	DB Panel	400A DB Panel set	1.	0 163,108.00	163,108.00

2	DB Panel	150A DB Panel	set	1.0	46,927.00	46,927.00
3	DB Panel	40A DB Panel	set	1.0	30,320.00	30,320.00
4	DB Panel	Lighting DB Panel	set	1.0	28,961	28,961.00
5	Delivery		JOB	1.0	2,417	2,417.00
	VAT & AIT				Included	

Requestor:	Mr. Byung Chul Cho	Total	TK	271,733.00

Delivery Date : 2020-01-31 morning

Delivery Location:

BSL House, 49 Kazi Benzir Sarani, Nikunja-2,

Khilkhet, Dhaka 1223

Mr. Al-Amin

Contact Person / Recipient : Miah M)88-017-

7150-0387

Mr. Byung Chul

Cho M)88-017-0733-

0259

Payment Terms : Within 30 days

after delivery

Payment Information : a) Name of bank :

b)

Beneficiary

2

c) Account Number :

d) Routing Number:

Unloading By Cross-world

Power Ltd

Road Permit N/A

Advance Payment Bond: N/A

Penalty: N/A

Retention: N/A

Remarks: Installion & Commission dony by

Cross-world Power Ltd

Inspection Inspection to be conducted by Samsung or authorized

representative after delivery

Others: Warranty: 1000 hrs or 1 year which is earlier

ACCEPTED BY

Mr. Kyung Ju Kang

Project Director

Aviation Dhaka Consortium Mr. Ariful Islam

Manager

Cross-world Power Ltd

----- Original Message -----

Sender : 조병철 <<u>ironhim.cho@samsung.com</u>> 책임/방글라데시 다카공항/삼성물산

Date: 2020-01-22 20:02 (GMT+9)

Title: Request bank account for P.O

Dear Mr. Ariful

١	ΡIο		in	fΩ	rm	me	he	lows	for	PO
ı	ГΙЗ	•		ıv		1116	NE	10443	TOL	ГU.

Payment Information:

a) Name of bank: ??

b) Beneficiary: Cross-world (exact company name)

c) Account Number: ?? d) Routing Number: ??

Thanks

-	조병철(趙炳哲)	책임 -	(BC.Cho)	[Brian]

- 조병철(趙炳哲) 책임 - (BC.Cho) [Brian]

Find more information on our corporate homepage and blog





The above message is intended solely for the named addressee and may contain trade secret, industrial technology or privileged and confidential information otherwise protected under applicable law including the Unfair Competition Prevention and Trade Secret Protection Act. Any unauthorized dissemination, distribution, copying or use of the information contained in this communication is strictly prohibited. If you have received this communication in error, please notify the sender by email and delete this communication immediately.

상기 메일은 지정된 수신인만을 위한 것이며 부정경쟁 방지 및 영업비밀 보호에 관한 법률을 포함하여 관련 법령에 따라 보호의 대상이 되는 **영업비밀, 산업기술 등을 포함**하고 있을 수 있습니다. 본 문서에 포함된 정보의전부 또는 일부를 <mark>무단으로 제3자에게 공개, 배포, 복사 또는 사용하는 것은 엄격히 금지</mark> 됩니다. 본 메일이 잘못 전송된 경우, 발신인에게 알려 주시고 즉시 삭제하여 주시기 바랍니다.

This email has been checked for viruses by AVG antivirus software. www.avg.com